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B |memene| FgEy |memewe B |memanc| IEEL | memAxe B8y | memAns| HEE |semewe
H17.1 1003| A 05 98.8 - H20.1 102.1 24 1147 9.0f [H23.1 1032 | A 13| 1079 3.6
H17.2 1002 | A 07 98.3 - H20.2 102.5 27 1139 9.6/ [H23.2 1038 | A 0.6] 1089 3.1
H17.3 100.1 A 0.7 98.0 - H20.3 103.3 3.0 1144 9.2
H17.4 100.1 A 03 99.0 - H20.4 104.0 3.7 110.6 6.3
H17.5 1002 | A 07 99.7 - H20.5 104.3 3.8 118.0 11.4
HI76 | 1002] A 06| ee0| - | 206 | 1049] 46 1213 135
H17.7 100.0 0.0 99.7 - H20.7 105.3 48| 125.1 16.2
H17.8 99.7| A 04 100.7 - H20.8 105.5 5.0 126.0 15.7
H17.9 100.3 | A 05| 101.2 - H20.9 105.7 48| 1234 13.9
H17.10 99.8| A 05 1022 - H20.10 105.9 49| 1204 9.8
H17.11 99.5| A 08 1020 - H20.11 105.9 53] 1124 09
H17.12 995 | AO07 101.4 - H20.12 105.9 44 107.7| A 54
H18.1 994 | AO09 102.4 3.6] [H21.1 105.9 37] 1079 A 59
H18.2 99.1 A 11 103.7 55| |H21.2 105.5 29| 1083 | A 49
H18.3 99.1 A 10| 1044 6.5 |H21.3 105.8 24)] 1088 | A 49
H18.4 99.0| A 11 105.2 6.3] |H21.4 105.6 1.5 1058 | A 43
H18.5 99.1 A 1.1 106.8 711 [H21.5 105.6 1.2 1048 | A 112
HI86 | 992] A 10| 1066] 77| [H216 | 1057] 08| 1053 A 132
H18.7 99.2| A 08| 1063 6.6] |H21.7 105.6 03[ 1046 | A 164
H18.8 99.4| A 03] 1083 7.5 |H21.8 1054 | A 0.1 1044 | A 171
H18.9 99.8 | A 05 1085 7.21 |H21.9 1054 | A 03| 1050 A 149
H18.10 99.8 00 107.6 5.3| |H21.10 105.1 A 08| 1038 | A 138
H18.11 99.7 02 1054 3.3| [H21.11 1048 | A 10[ 1035| A 79
H18.12 99.6 0.1 104.7 3.3 [H21.12 104.7 A 1.1 103.7 | A 3.7
H18.1 99.7 03] 105.2 27| |H22.1 104.6 A12 1042 A 34
H19.2 99.8 0.7 103.9 02| |H22.2 1044| A 10| 1056| A 25
H19.3 100.3 12] 1048 04| |H22.3 1038 | A 18/ 1060| A 26
H19.4 100.3 13| 1040| A 1.1] |H224 1038| A 1.7] 1065 0.7
H19.5 100.5 14 1059 | A 08| |H22.5 103.7 A 18 108.1 3.1
H19.6_|.1003. __ 1.1|.1089] 03| |H226 | 1039 A 17| 1078 24
H19.7 100.5 1.3] 107.7 1.3] [H22.7 103.9 A 16| 1073 2.6
H19.8 100.5 1.1 108.9 0.6] |H22.8 103.7 A 16 1076 3.1
H19.9 100.9 1.1 1083 | A 02| [H22.9 103.7 A 16| 107.6 25
H18.10 101.0 12| 109.7 20] |H22.10 103.9 A 1.1 107.5 3.6
H19.11 100.6 09 111.4 57| |H22.11 103.7 A 10| 1073 3.7
H19.12 101.4 18] 113.8 8.7 |H22.12 1033 | A 1.3[ 1073 3.5
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